
  +45 7244 0300
  N/A
  spares@berg-larsen.com
  DK98-3738/0-G31

  Vinkelstræde 7,DK-5960 Marstal
  Denmark
  Søren Kristiansen

April 26, 2023

  DK98-3738/0-G31

  IMO 9467158
  DRAGONBALL
  Your ref DRA-005/2023D-O001

1 pc Integrated Valve CompletePos.4 

2 pcs Return Line Filter Pos.5 

1 pc Hand pump Pos.13 

1 pc Manual Direction Valve 

3 pcs Check valve Pos.3 

1 pc Throttle check valve Pos.7 

3 pcs Ball valve Pos.6BKH(Dg6, 320bar) 

2 pcs Pressure Gauge Pos.9 

1 pc Manual Direction ValvePos.10 

6 pcs Hexagon Socket Head CapScrew Stainless Steel Size: M10 , Length Totalwithout cap 50mm, with cap 60mm 

16 pcs HEX HEAD BOLTSTAINLESS STEEL, M10 X20MM 

16 pcs HEX HEAD BOLTSTAINLESS STEEL, M8 X22MM 

16 pcs WASHER PLAIN ROUND,STAINLESS STEEL M8.0 

16 pcs WASHER PLAIN ROUND,STAINLESS STEEL M10.0 

1 pc Hydraulic Pump Pos.1Maker: CASAPPAModel: FLP10.2 30-2S/N: 00375087 04/10 

1 pc Oil Level Sight Glas forhydraulic Tank with boltsTotal length: 380mmWidth: 35mmDistance between holecenter: ~355mm 

MATERIAL DECLARATION

Remark 1
Remark 2
Remark 3

Date

MD-ID-No

<Supplier (Respondent) Information>
<Date of declaration>

<MD ID Number>

<Other Information (e.g. Vessel name, Hull Number if applicable.)>

<Product Information>

Company name

Address

Contact person
Telephone no
Fax no
E-Mail address
SDoC ID no

Division name
  Berg & Larsen Denmark A/S

mailto:spares@berg-larsen.com



